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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
I

o)) W T |
_/ : ¥
Wl NV il \ s \; ; T —
VvV d '\, Vv V ' : v v T—
200 , | i
U
100
0 25 50 75 100 125 150 175
30.0 i A -
27.5 E v—\ ——  Topt |

25.0 : ~
. A NA A~ NN
20.0 \ N ] [\

N ALY WS

1
15.0 U v 1
1
1
12.5 1

0 25 50 75 100 125 150 175

! —— RH
I ———  RHopt
80 N / ! opt |
1
" N NAY e
U AV SR V2.
60 P v :
1
1
50 A ALY :
/'/V |
\ I
40 V/
0 25 50 75 100 125 150 175
d
T T
I A 1N ——  ETel
2500 i |
: W\/V\/ ———  optETcl
1
2000 — ! A
WN

1500 AN ’ AN

N ‘W\\\Q
::: = =
i .
- N

0 25 50 75 100 125 150 175

|
—— optEtRate

R
NIRRTV ] I WA VW WA ———
L I AN s

| \ V\V f

0.4
|

=
I

0.2

0 25 50 75 100 125 150 175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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P3-9

BflE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS EFE
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21t 4245.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.8

FHEKRECE (1820.0 vs 4292.0) d 5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-9_0, Day=65 (2025-06-06)

VI, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1700 1751
0.6 466

- 2000

0.4~ L 1000

0.2 A 60
00 00

optEC0=2600. 0, setECB=2080.0

optPH0=6. 5, setPHB=5.8

0.2~

0.0

200 3 3000

300 4 ByWoFy 18D65 01:57: ET=1751 Fg=2250.0 Ro=427.0 e

- 2000

200 -

- 1000
100 -

I

1.0 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B B B B B ] B B B B B

o

™
T,
W
MI
f==1
T0h,
E=-1
Tt
™
T,
f==1
T,
f==1
T0h,
E=-1
Tt
™
T,
f==1
T,

0.8 -

0.6 1

0.4+

0.2~

0.0
800 {

600
400 -

200

Warping:
oA A "R
30 1

, "PPFD_obs’] is missing

25 -

20 A

15 A " "To obs'] is missing

04—
80 -
70 -

60 -
"RHo_obs’] is miss]|

—— RH Warning: col ['RH obs’,

0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

100

80

- 60

- 40

§_

%

%

%
‘e

»
%

\ R
N N
S
Q\z\ %7\

25

N
%,
X
L e
N

4

2

%

&

£

%,
&

At ’@(26_.?
%

2



P3-9

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R
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23t 3679.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.9

FHEKRECE (1773.0 vs 4075.0) 35
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11:45 288 150.0 2.888 S {Ri%e11:45 Bz (GRAERSE)
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P3-9

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

07:55 300 150.0 2. 888 = {RRiB@07:55 Fzh (RFAEEE)
08:30 300 150. 0 2.888 E 1BRi&e08:30 Fzh (RAEREE)
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33.5 1
T T T
580 585 590
m=725,m FV0=0
a4 —e— MW
40
39
38
37
T T T
725 730 735
m=845,m FV0=0
42
—— MW
41
40
39
38
845 850 855
m=965,m FV0=0
421 —o— MW
41
40 -
39

965 970 975

36.

36.

35.

35.

34.

34.

41.

40.

40.

39.

39.

41.

41.

40.

42.

41.

41.

41.

41.

41.

40.

m=625, FV0=0

M_W

650 6é5
m=730,n FV0=0

0 - —o— MW

755 7&0
m=850,n FV0=0

—o— MW

Bé5 8é0
m=970,n FV0=0

850

-o— MW

970 975 980



